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N & o & AF &2 H Ml A
012HE £ 1 3 LU KAMAE ~ NANAY
SN KA
HE: NANSIB RS (LB BB /Y HT)
CHol: XIAAID|EE A (Sl & 2
SN-EHH . SH(BH) - HPAY - BE2 Ofl AF o4 713 o B2
Xl A Aol gl 1,998,409 10,277,076 1,721,333
3 2,357,000 2,100,000 257,000
= 3,100,000 3,100,000 0
Al 6,541,409 5,077,076 1,464,333
RIAAQ DB R4 (LS DTHE /B Y) 7,914,792 7,918,709 £3,917
3 2,100,000 2,100,000 0
= 2,900,000 2,900,000 0
Al 2,914,792 2,918,709 £3,917
RIALAHR | BHE & 7,914,792 7,918,709 £3,917
3 2,100,000 2,100,000 0
= 2,900,000 2,900,000 0
Al 2,914,792 2,918,709 A3,917
RIALA S & X2 14,792 18,709 ~3,917
301 BB AE 0 3,917 A3,917
09 Bol2LoRARAS 0 3,917 £3,917
OzZoaRed ML
2% 0 - JIF 3,917,002 A3,917 0 A3,917
HOYSHASTAl RA (MO - BAII/MANE - DEB 3,751,591 2,015,091 1,736,500
)
z 257,000 0 257,000
= 200,000 200,000 0
Al 3,204,591 1,815,001 1,479,500
HCIIbS! RRD TS U MAFET 1,994,451 267,951 1,726,500
z 257,000 0 257,000
Al 1,737,451 267,951 1,469,500
DHATEYHNAHE SHXA(2NREN) 589,451 222,951 366,500
z 257,000 0 257,000
Al 332,451 222,951 109,500
307 212+0I & 585,500 219,000 366,500
z 257,000 0 257,000
Al 328,500 219,000 109,500
05 DIZHPIEr2 585,500 219,000 366,500
OXIHS/M ST AL (HE-BS)
A 385,500,008 385,500 119,000 266,500
z 257,000 0 257,000
Al 128,500 119,000 9,500
OXIHS/W SEXA (HE, 2-14 %)
100,000, 00024 100,000 0 100,000
UAZHT HRITL HY U SY(FNEEXL) 1,000,000 0 1,000,000
307 212+0I & 1,000,000 0 1,000,000
VACIEIE P S 1,000,000 0 1,000,000
OUASZYI SRATHE SYNA(WE, 42
EpY) 1,000,000,0002 1,000,000 0 1,000,000
LeSe Ast BHE 27 AL (2HEIX 360,000 0 360,000
)
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